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Introducing the Chi-Square (
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The 
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-Distribution table A-4 is similar to the Student t-Distribution table A-3 in that we use the degrees of freedom and the confidence level to look up the value.

It is different in that all values are always positive. The distribution is skewed and is not symmetrical. Because of this, even though the area of the two tails is the same, the 
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 scores are very different from each other. With the z and t, the scores were the same but opposite in sign. Not so with 
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Confidence Interval for 
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The upper and lower bounds for 
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 are different because it is skewed to the right. Given our confidence level of c:

For 
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For 
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